

CONVERGENCE THEOREMS FOR FIXED POINT PROBLEMS AND VARIATIONAL INEQUALITY PROBLEMS

YONGHONG YAO*, YEONG-CHENG LIOU**, AND RUDONG CHEN

ABSTRACT. In this paper, we introduce an iterative scheme for finding a common element of the set of fixed points of a nonexpansive mapping and the set of solutions of the variational inequality for an α -inverse-strongly monotone mapping in a Hilbert space. We show that the sequence converges strongly to a common element of two sets under the some mild conditions on parameters.

1. Introduction

Let C be a closed convex subset of a real Hilbert space H. Recall that a mapping S of C into itself is called *nonexpansive* if

$$||Sx - Sy|| \le ||x - y||$$

for all $x, y \in C$. We denote by F(S) the set of fixed points of S. A mapping A of C into H is called *monotone* if

$$\langle Au - Av, u - v \rangle \ge 0$$

for all $u, v \in C$ and A is called α -inverse-strongly-monotone if there exists a positive real number α such that

$$\langle Au - Av, u - v \rangle \ge \alpha ||Au - Av||^2$$

for all $u, v \in C$. It is well known that the variational inequality problem VI(C, A) is to find $x^* \in C$ such that

$$\langle Ax^*, v - x^* \rangle > 0$$

for all $v \in C$ (see [1], [3], [7]). The variational inequality has been extensively studied in the literature. See, e.g., [10], [11], [12] and the references therein.

For finding an element of $F(S) \cap VI(C, A)$ under the assumption that a set $C \subset H$ is closed and convex, a mapping S of C into itself is nonexpansive and a mapping A of C into H is α -inverse-strongly monotone, Takahashi and Toyoda [8] introduced the following iterative scheme:

$$(1.2) x_{n+1} = \alpha_n x_n + (1 - \alpha_n) SP_C(x_n - \lambda_n A x_n)$$

for every $n = 0, 1, 2, \dots$, where P_C is the metric projection of H onto C, $x_0 = x \in C$, $\{\alpha_n\}$ is a sequence in (0, 1), and $\{\lambda_n\}$ is a sequence in $(0, 2\alpha)$. They showed that, if $F(S) \cap VI(C, A)$ is nonempty, then the sequence $\{x_n\}$ generated by (1.2) converges weakly to some $z \in F(S) \cap VI(C, A)$. In 2005, Iiduka and Takahashi [2] further

²⁰⁰⁰ Mathematics Subject Classification. Primary, 47H05, 47J05, 47J25.

Key words and phrases. Strong convergence, α -inverse-strongly-monotone, fixed point, variational inequality, Hilbert space.

^{*}Corresponding, ** The research was partially supposed by the grant NSC 96-2221-E-230-003.

considered a new iterative scheme for a nonexpansive mapping and an α -inversestrongly monotone mapping and obtained the following strong convergence theorem.

Theorem 1.1. Let C be a closed convex subset of a real Hilbert space H. Let A be an α -inverse-strongly monotone mapping of C into H and let S be a nonexpansive mapping of C into itself such that $F(S) \cap VI(C,A) \neq \emptyset$. Suppose $x_1 = x \in C$ and $\{x_n\}$ is given by

$$(1.3) x_{n+1} = \alpha_n x + (1 - \alpha_n) SP_C(x_n - \lambda_n Ax_n)$$

for every $n = 1, 2, \dots$, where $\{\alpha_n\}$ is a sequence in [0,1) and $\{\lambda_n\}$ is a sequence in $[0,2\alpha]$. If $\{\alpha_n\}$ and $\{\lambda_n\}$ are chosen so that $\lambda_n \in [a,b]$ for some a,b with $0 < a < b < 2\alpha$,

$$\lim_{n\to\infty}\alpha_n=0, \sum_{n=1}^\infty\alpha_n=\infty, \sum_{n=1}^\infty|\alpha_{n+1}-\alpha_n|<\infty \ and \ \sum_{n=1}^\infty|\lambda_{n+1}-\lambda_n|<\infty,$$

then $\{x_n\}$ defined by (1.3) converges strongly to $P_{F(S)\cap VI(C,A)}x$.

In this paper, motivated by the iterative schemes (1.2) and (1.3), we introduce a new iterative scheme for finding a common element of the set of fixed points of a nonexpansive mapping and the set of solutions of the variational inequality problem for an α -inverse-strongly monotone mapping. We obtain a strong convergence theorem under the some mild conditions on parameters.

2. Preliminaries

Let H be a real Hilbert space with inner product $\langle \cdot, \cdot \rangle$ and norm $\| \cdot \|$ and let C be a closed convex subset of H. It is well known that, for any $u \in H$, there exists a unique $u_0 \in C$ such that

$$||u - u_0|| = \inf\{||u - x|| : x \in C\}.$$

We denote u_0 by $P_C u$, where P_C is called the metric projection of H onto C. The metric projection P_C of H onto C has the following basic properties:

Property (i): $||P_C x - P_C y|| \le ||x - y||$ for all $x, y \in H$;

Property (ii): $\langle x - y, P_C x - P_C y \rangle \ge \|P_C x - P_C y\|^2$ for every $x, y \in H$; Property (iii): $\langle x - P_C x, y - P_C x \rangle \le 0$ for all $x \in H$ and $y \in C$; Property (iv): $\|x - y\|^2 \ge \|x - P_C x\|^2 + \|y - P_C x\|^2$ for all $x \in H$ and $y \in C$.

Such properties of P_C will be crucial in the proofs of our main results. Let Abe a monotone mapping of C into H. In the context of the variational inequality problem, it is easy to see from Property (iv) that

(2.1)
$$u \in VI(C, A) \Leftrightarrow u = P_C(u - \lambda Au), \quad \forall \lambda > 0.$$

A set-valued mapping $T: H \to 2^H$ is called monotone if, for all $x, y \in H$, $f \in Tx$ and $g \in Ty$ imply $\langle x-y, f-g \rangle \geq 0$. A monotone mapping $T: H \to 2^H$ is maximal if its graph G(T) is not properly contained in the graph of any other monotone mapping. It is known that a monotone mapping T is maximal if and only if, for $(x,f) \in H \times H, \langle x-y, f-g \rangle \geq 0$ for every $(y,g) \in G(T)$ implies $f \in Tx$. Let A be

a monotone mapping of C into H and let $N_{C}v$ be the normal cone to C at $v \in C$; i.e.,

$$N_C v = \{ w \in H : \langle v - u, w \rangle \ge 0, \forall u \in C \}.$$

Define

$$Tv = \begin{cases} Av + N_C v, & \text{if } v \in C, \\ \emptyset, & \text{if } v \notin C. \end{cases}$$

Then T is maximal monotone and $0 \in Tv$ if and only if $v \in VI(C, A)$ (see [2],[5]).

Now, we introduce several lemmas for our main results in this paper.

Lemma 2.1 ([6]). Let $\{x_n\}$ and $\{y_n\}$ be bounded sequences in a Banach space X and let $\{\beta_n\}$ be a sequence in [0,1] with $0 < \liminf_{n \to \infty} \beta_n \le \limsup_{n \to \infty} \beta_n < 1$. Suppose $x_{n+1} = (1 - \beta_n)y_n + \beta_n x_n$ for all integers $n \ge 0$ and $\limsup_{n \to \infty} (\|y_{n+1} - y_n\|_{\infty})$ $|y_n|| - ||x_{n+1} - x_n|| \le 0.$ Then, $\lim_{n \to \infty} ||y_n - x_n|| = 0.$

Lemma 2.2 ([4]). Let H be a real Hilbert space. Then the following inequality holds: for each $x, y \in H$, we have

$$||x + y||^2 \le ||x||^2 + 2\langle y, x + y \rangle.$$

Lemma 2.3 ([9]). Assume $\{a_n\}$ is a sequence of nonnegative real numbers such that

$$a_{n+1} \le (1 - \gamma_n)a_n + \delta_n,$$

where $\{\gamma_n\}$ is a sequence in (0,1) and $\{\delta_n\}$ is a sequence such that

- (1) $\sum_{n=1}^{\infty} \gamma_n = \infty;$ (2) $\limsup_{n \to \infty} \delta_n / \gamma_n \le 0$ or $\sum_{n=1}^{\infty} |\delta_n| < \infty.$

Then $\lim_{n\to\infty} a_n = 0$.

3. Main results

Now we state and prove our main results in this section.

Theorem 3.1. Let C be a closed convex subset of a real Hilbert space H. Let A be an α -inverse-strongly monotone mapping of C into H and let S be a nonexpansive mapping of C into itself such that $F(S) \cap VI(C,A) \neq \emptyset$. Suppose fixed $u \in C$ and given $x_0 \in C$ arbitrarily. Let $\{x_n\}$ be generated iteratively by

$$(3.1) x_{n+1} = \beta x_n + (1 - \beta) S[\alpha_n u + (1 - \alpha_n) P_C(x_n - \lambda_n A x_n)], \quad \forall n \ge 0,$$

where $\beta \in (0,1)$ is a constant, $\{\alpha_n\}$ is a sequence in [0,1] and $\{\lambda_n\}$ is a sequence in $[0,2\alpha]$. If $\{\alpha_n\}$ and $\{\lambda_n\}$ are chosen so that $\lambda_n \in [a,b]$ for some a,b with $0 < a < b < 2\alpha$ and

- (i) $\lim_{n\to\infty} \alpha_n = 0$, $\sum_{n=0}^{\infty} \alpha_n = \infty$, (ii) $\lim_{n\to\infty} (\lambda_{n+1} \lambda_n) = 0$,

then $\{x_n\}$ defined by (3.1) converges strongly to $P_{F(S)\cap VI(C,A)}u$.

Proof. Since $\lambda_n \in [0, 2\alpha]$ and A is an α -inverse-strongly monotone mapping, we have, for all $x, y \in C$,

$$||(I - \lambda_n A)x - (I - \lambda_n A)y||^2 = ||(x - y) - \lambda_n (Ax - Ay)||^2$$
$$= ||x - y||^2 - 2\lambda_n \langle x - y, Ax - Ay \rangle$$

(3.2)
$$+\lambda_n^2 ||Ax - Ay||^2$$

$$\leq ||x - y||^2 + \lambda_n (\lambda_n - 2\alpha) ||Ax - Ay||^2,$$

which implies that $I - \lambda_n A$ is nonexpansive.

Let $x^* \in F(S) \cap VI(C, A)$. Then $x^* = P_C(x^* - \lambda_n A x^*)$. Setting $y_n = \alpha_n u + (1 - \alpha_n) P_C(x_n - \lambda_n A x_n)$ for all $n \ge 0$, we have from Property (i) and (3.2) that

$$||y_{n} - x^{*}|| = ||\alpha_{n}(u - x^{*}) + (1 - \alpha_{n})[P_{C}(x_{n} - \lambda_{n}Ax_{n}) - x^{*}]||$$

$$= ||\alpha_{n}(u - x^{*}) + (1 - \alpha_{n})[P_{C}(x_{n} - \lambda_{n}Ax_{n}) - P_{C}(x^{*} - \lambda_{n}Ax^{*})]||$$

$$\leq \alpha_{n}||u - x^{*}|| + (1 - \alpha_{n})||P_{C}(x_{n} - \lambda_{n}Ax_{n}) - P_{C}(x^{*} - \lambda_{n}Ax^{*})||$$

$$\leq \alpha_{n}||u - x^{*}|| + (1 - \alpha_{n})||(x_{n} - \lambda_{n}Ax_{n}) - (x^{*} - \lambda_{n}Ax^{*})||$$

$$\leq \alpha_{n}||u - x^{*}|| + (1 - \alpha_{n})||x_{n} - x^{*}||.$$

By (3.1) and (3.3), we get

$$||x_{n+1} - x^*|| = ||\beta(x_n - x^*) + (1 - \beta)(Sy_n - x^*)||$$

$$\leq \beta ||x_n - x^*|| + (1 - \beta)||y_n - x^*||$$

$$\leq \beta ||x_n - x^*|| + (1 - \beta)\alpha_n||u - x^*||$$

$$+ (1 - \beta)(1 - \alpha_n)||x_n - x^*||$$

$$= [1 - (1 - \beta)\alpha_n]||x_n - x^*|| + (1 - \beta)\alpha_n||u - x^*||$$

$$\leq \max\{||u - x^*||, ||x_0 - x^*||\}.$$

Therefore, $\{x_n\}$ is bounded. Hence $\{y_n\}$, $\{Sy_n\}$ and $\{Ax_n\}$ are also bounded. Note that

$$y_{n+1} - y_n = (\alpha_{n+1} - \alpha_n)u + (1 - \alpha_{n+1})P_C(x_{n+1} - \lambda_{n+1}Ax_{n+1})$$
$$- (1 - \alpha_n)P_C(x_n - \lambda_nAx_n)$$
$$= (\alpha_{n+1} - \alpha_n)u + (1 - \alpha_{n+1})[P_C(x_{n+1} - \lambda_{n+1}Ax_{n+1})$$
$$- P_C(x_n - \lambda_nAx_n)] + (\alpha_n - \alpha_{n+1})P_C(x_n - \lambda_nAx_n).$$

It follows that

$$||y_{n+1} - y_n|| \leq ||\alpha_{n+1} - \alpha_n|(||u|| + ||P_C(x_n - \lambda_n A x_n)||) + (1 - \alpha_{n+1})||P_C(x_{n+1} - \lambda_{n+1} A x_{n+1}) - P_C(x_n - \lambda_n A x_n)||$$

$$\leq ||\alpha_{n+1} - \alpha_n|(||u|| + ||P_C(x_n - \lambda_n A x_n)||) + (1 - \alpha_{n+1})||(x_{n+1} - \lambda_{n+1} A x_{n+1}) - (x_n - \lambda_n A x_n)||$$

$$= ||\alpha_{n+1} - \alpha_n|(||u|| + ||P_C(x_n - \lambda_n A x_n)||) + (1 - \alpha_{n+1})||(x_{n+1} - \lambda_{n+1} A x_{n+1}) - (x_n - \lambda_{n+1} A x_n) + (\lambda_n - \lambda_{n+1}) A x_n||$$

$$\leq ||\alpha_{n+1} - \alpha_n|(||u|| + ||P_C(x_n - \lambda_n A x_n)||) + ||x_{n+1} - x_n|| + ||\lambda_{n+1} - \lambda_n|||A x_n||.$$

Therefore, we have

$$||Sy_{n+1} - Sy_n|| \le ||y_{n+1} - y_n||$$

$$\le |\alpha_{n+1} - \alpha_n|(||u|| + ||P_C(x_n - \lambda_n Ax_n)||)$$

$$+ ||x_{n+1} - x_n|| + |\lambda_{n+1} - \lambda_n|||Ax_n||,$$

which implies that

$$\limsup_{n \to \infty} (\|Sy_{n+1} - Sy_n\| - \|x_{n+1} - x_n\|) \le 0.$$

Hence, by Lemma 2.1, we obtain $||Sy_n - x_n|| \to 0$ as $n \to \infty$. Consequently,

(3.5)
$$\lim_{n \to \infty} ||x_{n+1} - x_n|| = \lim_{n \to \infty} (1 - \beta) ||Sy_n - x_n|| = 0.$$

From (3.4) and (3.5), we also have $||y_{n+1} - y_n|| \to 0$ as $n \to \infty$. For $x^* \in F(S) \cap VI(C, A)$, from (3.2), we obtain

$$||x_{n+1} - x^*||^2 = ||\beta(x_n - x^*) + (1 - \beta)(Sy_n - x^*)||^2$$

$$\leq [\beta||x_n - x^*|| + (1 - \beta)||Sy_n - x^*||^2$$

$$= \beta^2 ||x_n - x^*||^2 + (1 - \beta)^2 ||Sy_n - x^*||^2$$

$$+ 2\beta(1 - \beta)||x_n - x^*|||Sy_n - x^*||$$

$$\leq \beta^2 ||x_n - x^*||^2 + (1 - \beta)^2 ||Sy_n - x^*||^2$$

$$+ \beta(1 - \beta)(||x_n - x^*||^2 + ||Sy_n - x^*||^2)$$

$$= \beta ||x_n - x^*||^2 + (1 - \beta)||Sy_n - x^*||^2$$

$$\leq \beta ||x_n - x^*||^2 + (1 - \beta)||y_n - x^*||^2$$

$$= \beta ||x_n - x^*||^2 + (1 - \beta)[||\alpha_n(u - x^*)|$$

$$+ (1 - \alpha_n)(P_C(x_n - \lambda_n Ax_n) - P_C(x^* - \lambda_n Ax^*))||]^2$$

$$\leq \beta ||x_n - x^*||^2 + (1 - \beta)[\alpha_n ||u - x^*||^2$$

$$+ (1 - \alpha_n)||(x_n - \lambda_n Ax_n) - (x^* - \lambda_n Ax^*)||^2]$$

$$\leq \beta ||x_n - x^*||^2 + (1 - \beta)\{\alpha_n ||u - x^*||^2 + (1 - \alpha_n)||x_n - x^*||^2$$

$$+ (1 - \alpha_n)\lambda_n(\lambda_n - 2\alpha)||Ax_n - Ax^*||^2\}$$

$$\leq (1 - \beta)\alpha_n ||u - x^*||^2 + ||x_n - x^*||^2$$

$$+ (1 - \beta)(1 - \alpha_n)a(b - 2\alpha)||Ax_n - Ax^*||^2.$$

Then we have

$$-(1-\beta)(1-\alpha_n)a(b-2\alpha)\|Ax_n - Ax^*\|^2$$

$$\leq (1-\beta)\alpha_n\|u - x^*\|^2 + \|x_n - x^*\|^2 - \|x_{n+1} - x^*\|^2$$

$$= (1-\beta)\alpha_n\|u - x^*\|^2 + (\|x_n - x^*\| + \|x_{n+1} - x^*\|)$$

$$\times (\|x_n - x^*\| - \|x_{n+1} - x^*\|)$$

$$\leq (1-\beta)\alpha_n\|u - x^*\|^2 + (\|x_n - x^*\| + \|x_{n+1} - x^*\|) \times \|x_n - x_{n+1}\|.$$

Since $\alpha_n \to 0$ and $||x_n - x_{n+1}|| \to 0$ as $n \to \infty$, we obtain $||Ax_n - Ax^*|| \to 0$ as $n \to \infty$.

Setting $z_n = P_C(x_n - \lambda_n A x_n)$ for all $n \ge 0$, from Property (ii), we have

$$||z_{n} - x^{*}||^{2} = ||P_{C}(x_{n} - \lambda_{n}Ax_{n}) - P_{C}(x^{*} - \lambda_{n}Ax^{*})||^{2}$$

$$\leq \langle (x_{n} - \lambda_{n}Ax_{n}) - (x^{*} - \lambda_{n}Ax^{*}), z_{n} - x^{*} \rangle$$

$$= \frac{1}{2} \{ ||(x_{n} - \lambda_{n}Ax_{n}) - (x^{*} - \lambda_{n}Ax^{*})||^{2} + ||z_{n} - x^{*}||^{2}$$

$$- ||(x_{n} - \lambda_{n}Ax_{n}) - (x^{*} - \lambda_{n}Ax^{*}) - (z_{n} - x^{*})||^{2} \}$$

$$\leq \frac{1}{2} \{ ||x_{n} - x^{*}||^{2} + ||z_{n} - x^{*}||^{2}$$

$$- ||(x_{n} - z_{n}) - \lambda_{n}(Ax_{n} - Ax^{*})||^{2} \}$$

$$= \frac{1}{2} \{ ||x_{n} - x^{*}||^{2} + ||z_{n} - x^{*}||^{2} - ||x_{n} - z_{n}||^{2}$$

$$+ 2\lambda_{n} \langle x_{n} - z_{n}, Ax_{n} - Ax^{*} \rangle - \lambda_{n}^{2} ||Ax_{n} - Ax^{*}||^{2} \}.$$

So, we obtain

$$||z_n - x^*||^2 \le ||x_n - x^*||^2 - ||x_n - z_n||^2 + 2\lambda_n \langle x_n - z_n, Ax_n - Ax^* \rangle - \lambda_n^2 ||Ax_n - Ax^*||^2,$$

and hence

$$||x_{n+1} - x^*||^2 = ||\beta(x_n - x^*) + (1 - \beta)(Sy_n - x^*)||^2$$

$$\leq \beta ||x_n - x^*||^2 + (1 - \beta)||y_n - x^*||^2$$

$$\leq \beta ||x_n - x^*||^2 + (1 - \beta)[\alpha_n ||u - x^*||^2 + (1 - \alpha_n)||z_n - x^*||^2]$$

$$\leq \alpha_n ||u - x^*||^2 + \beta ||x_n - x^*||^2 + (1 - \beta)||z_n - x^*||^2$$

$$\leq \alpha_n ||u - x^*||^2 + ||x_n - x^*||^2 - (1 - \beta)||x_n - z_n||^2$$

$$+ 2(1 - \beta)\lambda_n \langle x_n - z_n, Ax_n - Ax^* \rangle - (1 - \beta)\lambda_n^2 ||Ax_n - Ax^*||^2$$

$$\leq \alpha_n ||u - x^*||^2 + ||x_n - x^*||^2 - (1 - \beta)||x_n - z_n||^2$$

$$+ 2(1 - \beta)\lambda_n ||x_n - z_n|| ||Ax_n - Ax^*||,$$

which implies that

$$(1-\beta)\|x_n - z_n\|^2 \le \alpha_n \|u - x^*\|^2 + \|x_n - x^*\|^2 - \|x_{n+1} - x^*\|^2$$

$$+ 2(1-\beta)\lambda_n \|x_n - z_n\| \|Ax_n - Ax^*\|$$

$$\le \alpha_n \|u - x^*\|^2 + \|x_n - x_{n+1}\| \times (\|x_n - x^*\| + \|x_{n+1} - x^*\|)$$

$$+ 2(1-\beta)\lambda_n \|x_n - z_n\| \|Ax_n - Ax^*\|.$$

Since $\alpha_n \to 0$, $||x_n - x_{n+1}|| \to 0$ and $||Ax_n - Ax^*|| \to 0$ as $n \to \infty$, we have $||x_n - z_n|| \to 0$ as $n \to \infty$. At the same time, we note that

$$y_n - z_n = \alpha_n(u - z_n),$$

then we have

(3.6)
$$\lim_{n \to \infty} ||y_n - z_n|| = 0.$$

Since

$$||Sz_n - z_n|| \le ||Sz_n - Sy_n|| + ||Sy_n - x_n|| + ||x_n - z_n||$$

$$\le ||z_n - y_n|| + ||Sy_n - x_n|| + ||x_n - z_n||,$$

we can conclude that $||Sz_n - z_n|| \to 0$ as $n \to \infty$.

Next we show that

$$\limsup_{n \to \infty} \langle u - z_0, z_n - z_0 \rangle \le 0,$$

where $z_0 = P_{F(S) \cap VI(C,A)}u$.

To show it, we choose a subsequence $\{z_{n_i}\}$ of $\{z_n\}$ such that

$$\lim_{n \to \infty} \sup \langle u - z_0, Sz_n - z_0 \rangle = \lim_{i \to \infty} \langle u - z_0, Sz_{n_i} - z_0 \rangle.$$

As $\{z_{n_i}\}$ is bounded, we have that a subsequence $\{z_{n_{ij}}\}$ of $\{z_{n_i}\}$ converges weakly to z. We may assume without loss of generality that $z_{n_i} \to z$. Since $\|Sz_n - z_n\| \to 0$, we obtain $Sz_{n_i} \to z$ as $i \to \infty$. Then we can obtain $z \in F(S) \cap VI(C, A)$. In fact, let us first show that $z \in VI(C, A)$.

Let

$$Tv = \begin{cases} Av + N_C v, v \in C, \\ \emptyset, v \notin C. \end{cases}$$

Then T is maximal monotone. Let $(v, w) \in G(T)$. Since $w - Av \in N_C v$ and $z_n \in C$, we have $\langle v - z_n, w - Av \rangle \ge 0$. On the other hand, from $z_n = P_C(x_n - \lambda_n Ax_n)$, we have $\langle v - z_n, z_n - (x_n - \lambda_n Ax_n) \rangle \ge 0$, that is,

$$\langle v - z_n, \frac{z_n - x_n}{\lambda_n} + Ax_n \rangle \ge 0.$$

Therefore, we have

$$\begin{split} \langle v-z_{n_i},w\rangle &\geq \langle v-z_{n_i},Av\rangle \\ &\geq \langle v-z_{n_i},Av\rangle - \langle v-z_{n_i},\frac{z_{n_i}-x_{n_i}}{\lambda_{n_i}} + Ax_{n_i}\rangle \\ &= \langle v-z_{n_i},Av-Ax_{n_i}-\frac{z_{n_i}-x_{n_i}}{\lambda_{n_i}}\rangle \\ &= \langle v-z_{n_i},Av-Az_{n_i}\rangle + \langle v-z_{n_i},Az_{n_i}-Ax_{n_i}\rangle \\ &- \langle v-z_{n_i},\frac{z_{n_i}-x_{n_i}}{\lambda_{n_i}}\rangle \\ &\geq \langle v-z_{n_i},Az_{n_i}-Ax_{n_i}\rangle - \langle v-z_{n_i},\frac{z_{n_i}-x_{n_i}}{\lambda_{n_i}}\rangle. \end{split}$$

Hence we obtain $\langle v-z,w\rangle \geq 0$ as $i\to\infty$. Since T is maximal monotone, we have $z\in T^{-1}0$ and hence $z\in VI(C,A)$. Let us show that $z\in F(S)$. Assume $z\notin F(S)$. From Opial's condition, we have

$$\begin{split} \liminf_{i \to \infty} \|z_{n_i} - z\| &< \liminf_{i \to \infty} \|z_{n_i} - Sz\| \\ &= \liminf_{i \to \infty} \|z_{n_i} - Sz_{n_i} + Sz_{n_i} - Sz\| \\ &\leq \liminf_{i \to \infty} \|Sz_{n_i} - Sz\| \\ &\leq \liminf_{i \to \infty} \|z_{n_i} - z\|. \end{split}$$

This is a contradiction. Thus, we obtain $z \in F(S)$. Then we have

(3.7)
$$\limsup_{n \to \infty} \langle u - z_0, z_n - z_0 \rangle = \limsup_{n \to \infty} \langle u - z_0, Sz_n - z_0 \rangle
= \lim_{n \to \infty} \langle u - z_0, Sz_{n_i} - z_0 \rangle
= \langle u - z_0, z - z_0 \rangle
< 0.$$

It follows from (3.6) and (3.7) that

$$(3.8) \qquad \limsup_{n \to \infty} \langle u - z_0, y_n - z_0 \rangle \le 0.$$

Therefore, form Lemma 2.2 and (3.1), we have

$$||x_{n+1} - z_{0}||^{2} \leq \beta ||x_{n} - z_{0}||^{2} + (1 - \beta) ||y_{n} - z_{0}||^{2}$$

$$\leq \beta ||x_{n} - z_{0}||^{2} + (1 - \beta) [(1 - \alpha_{n}) ||z_{n} - z_{0}||^{2}$$

$$+2\alpha_{n} \langle u - z_{0}, y_{n} - z_{0} \rangle]$$

$$\leq \beta ||x_{n} - z_{0}||^{2} + (1 - \beta) [(1 - \alpha_{n}) ||x_{n} - z_{0}||^{2}$$

$$+2\alpha_{n} \langle u - z_{0}, y_{n} - z_{0} \rangle]$$

$$= [1 - (1 - \beta)\alpha_{n}] ||x_{n} - z_{0}||^{2} + (1 - \beta)\alpha_{n} \{2\langle u - z_{0}, y_{n} - z_{0} \rangle\}$$

$$= (1 - \gamma_{n}) ||x_{n} - z_{0}||^{2} + \delta_{n},$$

where $\gamma_n = 1 - (1 - \beta)\alpha_n$ and $\delta_n = (1 - \beta)\alpha_n\{2\langle u - z_0, y_n - z_0\rangle\}$. It is easily seen that $\sum_{n=0}^{\infty} \gamma_n = \infty$ and

$$\limsup_{n \to \infty} \delta_n / \gamma_n = \limsup_{n \to \infty} \{ 2 \langle u - z_0, y_n - z_0 \rangle \} \le 0.$$

Thus by Lemma 2.3 and (3.9), we can obtain the desired conclusion. This completes the proof.

Corollary 3.2. Let C be a closed convex subset of a real Hilbert space H. Let A be an α -inverse-strongly monotone mapping of C into H such that $VI(C,A) \neq \emptyset$. Suppose fixed $u \in C$ and given $x_0 \in C$ arbitrarily. Let $\{x_n\}$ be generated iteratively by

$$(3.10) x_{n+1} = \beta x_n + (1 - \beta)[\alpha_n u + (1 - \alpha_n) P_C(x_n - \lambda_n A x_n)], \quad \forall n \ge 0,$$

where $\beta \in (0,1)$ is constant, $\{\alpha_n\}$ is a sequence in [0,1] and $\{\lambda_n\}$ is a sequence in $[0,2\alpha]$. If $\{\alpha_n\}$ and $\{\lambda_n\}$ are chosen so that $\lambda_n \in [a,b]$ for some a,b with $0 < a < b < 2\alpha$ and

- (i) $\lim_{n\to\infty} \alpha_n = 0$, $\sum_{n=0}^{\infty} \alpha_n = \infty$, (ii) $\lim_{n\to\infty} (\lambda_{n+1} \lambda_n) = 0$,

then $\{x_n\}$ defined by (3.10) converges strongly to $P_{VI(C,A)}u$.

A mapping $T: C \to C$ is called strictly pseudocontractive if there exists k with $0 \le k \le 1$ such that

$$||Tx - Ty||^2 \le ||x - y||^2 + k||(I - T)x - (I - T)y||^2$$

for all $x, y \in C$. Put A = I - T. Then we have

$$||(I - A)x - (I - A)y||^2 \le ||x - y||^2 + k||Ax - Ay||^2.$$

On the other hand,

$$||(I - A)x - (I - A)y||^2 = ||x - y||^2 + ||Ax - Ay||^2 - 2\langle x - y, Ax - Ay\rangle.$$

Hence we have

$$\langle x - y, Ax - Ay \rangle \ge \frac{1 - k}{2} ||Ax - Ay||^2.$$

Now we can get the following result.

Theorem 3.3. Let C be a closed convex subset of a real Hilbert space H. Let T be a k-strictly pseudocontractive mapping of C into itself and let S be a nonexpansive mapping of C into itself such that $F(T) \cap F(S) \neq \emptyset$. Suppose fixed $u \in C$ and given $x_0 \in C$ arbitrarily. Let $\{x_n\}$ be generated iteratively by

$$(3.11) \quad x_{n+1} = \beta x_n + (1-\beta)S\{\alpha_n u + (1-\alpha_n)[(1-\lambda_n)x_n + \lambda_n T x_n]\}, \quad \forall n \ge 0,$$

where $\beta \in (0,1)$ is constant, $\{\alpha_n\}$ is a sequence in [0,1] and $\{\lambda_n\}$ is a sequence in $[0,2\alpha]$. If $\{\alpha_n\}$ and $\{\lambda_n\}$ are chosen so that $\lambda_n \in [a,b]$ for some a,b with $0 < a < b < 2\alpha$ and

- $\begin{array}{ll} \text{(i)} & \lim_{n\to\infty}\alpha_n=0, & \sum_{n=0}^{\infty}\alpha_n=\infty, \\ \text{(ii)} & \lim_{n\to\infty}(\lambda_{n+1}-\lambda_n)=0, \end{array}$

then $\{x_n\}$ defined by (3.11) converges strongly to $P_{F(T)\cap F(S)}u$.

Proof. Put A = I - T. Then A is (1 - k)/2-inverse-strongly monotone. We have F(T) = VI(C, A) and $P_C(x_n - \lambda_n A x_n) = (1 - \lambda_n) x_n + \lambda_n T x_n$. So, by Theorem 3.1, we can obtain the desired result. This completes the proof.

References

- [1] F. E. Browder and W. V. Petryshyn, Construction of fixed points of nonlinear mappings in Hilbert spaces, J. Math. Anal. Appl. 20 (1967), 197-228.
- [2] H. Iiduka and W. Takahashi, Strong convergence theorems for nonexpansive mappings and inverse-strongly monotone mappings, Nonlinear Anal. 61 (2005), 341-350.
- [3] F. Liu and M. Z. Nashed, Regularization of nonlinear ill-posed variational inequalities and convergence rates, Set-Valued Anal. 6 (1998), 313-344.
- [4] G. Marino and H. K. Xu, Convergence of generalized proximal point algorithms, Communications on Pure and Applied Analysis 3 (2004), 791-808.
- [5] R. T. Rockafellar, On the maximality of sums of nonliner monotone operators, Trans. Amer. Math. Soc. **149** (1970), 75-88.
- [6] T. Suzuki, Strong convergence of Krasnoselskii and Mann's type sequences for one-parameter nonexpansive semigroups without Bochner integrals, J. Math. Anal. Appl. 305 (2005), 227-239.
- W. Takahashi, Nonlinear Functional Analysis, Yokohama Publishers, Yokohama, 2000.
- [8] W. Takahashi and M. Toyoda, Weak convergence theorems for nonexpansive mappings and monotone mappings, J. Optim. Theory Appl. 118 (2003), 417-428.
- [9] H. K. Xu, Viscosity approximation methods for nonexpansive mappings, J. Math. Anal. Appl. **298** (2004), 279-291.
- [10] J. C. Yao, Variational inequalities with generalized monotone operators, Operations Research **19** (1994), 691-705.
- [11] J. C. Yao and O. Chadli, Pseudomonotone complementarity problems and variational inequalities in Handbook of Generalized Convexity and Monotonicity, J. P. Crouzeix, N. Haddjissas and S. Schaible (eds.), Kluwer Academic Publishers, Dordrecht/Boston/London, 2005, pp.501-
- [12] L. C. Zeng, S. Schaible and J.C. Yao, Iterative algorithm for generalized set-valued strongly nonlinear mixed variational-like inequalities, J. Optim. Theory Appl. 124 (2005), 725-738.

Manuscript received March 18, 2008 revised July 21, 2008

Yonghong Yao

Department of Mathematics, Tianjin Polytechnic University, Tianjin 300160, China $E\text{-}mail\ address:\ yuyanrong@tjpu.edu.cn$

YEONG-CHENG LIOU

Department of Information Management, Cheng Shiu University, Kaohsiung 833, Taiwan $E\text{-}mail\ address: simplex_liou@hotmail.com}$

RUDONG CHEN

Department of Mathematics, Tianjin Polytechnic University, Tianjin 300160, China $E\text{-}mail\ address$: chenrd@tjpu.edu.cn